PIK: 0,00

Skala 1:100/50

Bl SCERALNA = 120m2
Bl winzaca = 0,00m2
] wyrow. = 0,00m2
] FREZOWANE = 123m2
[ nasyP = 0,00m2

PIK: 40,00
Skala 1:100/50

Bl SCERALNA = 0,31m2
B winzaca = 0,00m2
] wyrow. = 0,06m2
] FREZOWANIE = 0,05m2
[ nasyP = 0,07m2

PIK: 80,00
Skala 1:100/50

B SCERALNA = 0,31m2
B v zaca = 0,00m2
] wyrow. = 0,08m2
[ FREZOWANIE = 0,00m2
] nasyP = 0,07m2

PIK: 120,00 i[
Skala 1100/50

Il ScERALNA = 0,30m2
B winzaca = 0,00m2
] wyrow. = 0,02m2
] FREZOWANIE = 0,02m2
[ NasYP = 0,01m2

Przekroje poprzeczne ul. Podolany Drugie odc. II

|

PIK: 160,00
Skala 1:100/50

Bl SCIERALNA = 0,30m2
B winzaca = 0,00m2
] wyrow. = 0,00m2
] FREZOWANIE = 0,06m2
[ nasyp = 0,02m2

PIK: 200,00
Skala 1:100/50

Il SCERALNA = 0,30m2
B winzaca = 0,00m2
] wyRow. = 0,13m2
[ FREZOWANIE = 0,00m2
[ nasyp = 0,02m2

PIK: 240,00
Skala 1:100/50

Il SCERALNA = 0,30m2
B winzaca = 0,00m2
] wyrow. = 0,03m2
] FREZOWANIE = 0,01m2
[ nasyp = 0,02m2

[ wykor = 0,58m2

PIK: 280,00
Skala 1:100/50

Il ScERALNA = 0,30m2
B winzaca = 0,00m2
] wyrow. = 0,05m2
] FREZOWANIE = 0,06m2
[ NasYP = 0,01m2

[ wykor = 0,66m2

|

PIK: 340,00
Skala 1:100/50

Il ScERALNA = 0,30m2
B winzaca = 0,00m2
] wyrow. = 0,12m2
] FREZOWANIE = 0,00m2
[ nasyp = 0,02m2

[ wykor = 0,42m2

|

[ wykor = 0,00m2 [ wykor = 0,42m2 [ wykor = 0,43m2 I wykor = 0,67m2 [ wykor = 0,55m2 [ wykop = 054m2

P.P.= 138,00 P.P. = 156,00 P.P. = 155,00
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